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B Ramp %Euﬂfﬂg A A 7.0 m 2 56,000 392,000
A4 1.06 m’ 3 20,000 21,200
C Ramp %EHH#_A]% A A 1.4 m 2 56,000 78,400
e 0.08 m' 3 20,000 1600
e E Ramp vl A A A 1.1 m 2 56,000 61,600
o] & A 0.28 m' 3 20,000 5600
I Ramp %EHH?A]@ A A 0.4 m 2 56,000 22,400
e 4.94 m' 3 20,000 98,800
H Ramp %EHHZ_FM@ A A 0.8 m 2 56,000 44,800
A 0.55 m' 3 20,000 11,000




FEEE] 292
A
T HEEF 29 @7t =9
5 3 20,000 100,000
B Ramp
2 3 10,000 20,000
N 3.0 2 120,000 360,000
H:E; C Ramp A 3.00 3 20,000 60,000
EE QA4 1 3 10,000 10,000
I Ramp ] A 2 A 2 20,000 40,000
H Ramp A 2 1 21 20,000 20,000
A 0.6 m 1 26,705 16,023
ISR 1.18 m’ 2 178,088 210,145
B Ramp
HE L) 0.64 m' 1 191,095 122,301
AUER S 20.0 m 3 30,000 600,000
C Ramp AUER S 240.0 m 3 30,000 | 7,200,000
HE A4 7 B ! 15,000 105,000
AA A A 2 Ma | 3 62,000 124,000
E Ramp
AHER S 107.0 m 3 30,000 | 3,210,000
By 1.60 m’ 3 178,088 284,941
FARS 2.0 m 1 26,705 53,410
IEasiERe 0.84 m' 2 178,088 149,595
I Ramp TR (0 3.49 m' 1 191,095 666,922
2E A2 22 B4 | 3 10,000 220,000
AHEHR S 14.0 m 3 30,000 420,000
AHEHR S 34.1 m 3 30,000 | 1,023,000
H Ramp IEasiEEe 1.86 m’ 2 178,088 331,244
1.46 m’ 1 191,095 278,999
30,426,418
15,213,209
45,639,627
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